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一、修辭練習：
 eq \o(\s\do 0(１)) 答案：③
 eq \o(\s\do 0(２)) 答案：①
 eq \o(\s\do 0(３)) 答案：①
 eq \o(\s\do 0(４)) 答案：③
 eq \o(\s\do 0(５)) 答案：②
 eq \o(\s\do 0(６)) 答案：③
 eq \o(\s\do 0(７)) 答案：④
 eq \o(\s\do 0(８)) 答案：③
 eq \o(\s\do 0(９)) 答案：①
 eq \o(\s\do 3(１),\s\do -3(０)) 答案：④
 eq \o(\s\do 3(１),\s\do -3(１)) 答案：②
 eq \o(\s\do 3(１),\s\do -3(２)) 答案：②
 eq \o(\s\do 3(１),\s\do -3(３)) 答案：①
 eq \o(\s\do 3(１),\s\do -3(４)) 答案：④
 eq \o(\s\do 3(１),\s\do -3(５)) 答案：③
 eq \o(\s\do 3(１),\s\do -3(６)) 答案：②
 eq \o(\s\do 3(１),\s\do -3(７)) 答案：③
 eq \o(\s\do 3(１),\s\do -3(８)) 答案：①
 eq \o(\s\do 3(１),\s\do -3(９)) 答案：④
 eq \o(\s\do 3(２),\s\do -3(０)) 答案：①
 eq \o(\s\do 3(２),\s\do -3(１)) 答案：②
 eq \o(\s\do 3(２),\s\do -3(２)) 答案：④
 eq \o(\s\do 3(２),\s\do -3(３)) 答案：①
 eq \o(\s\do 3(２),\s\do -3(４)) 答案：④
 eq \o(\s\do 3(２),\s\do -3(５)) 答案：①
 eq \o(\s\do 3(２),\s\do -3(６)) 答案：④
 eq \o(\s\do 3(２),\s\do -3(７)) 答案：①
 eq \o(\s\do 3(２),\s\do -3(８)) 答案：③
 eq \o(\s\do 3(２),\s\do -3(９)) 答案：④
 eq \o(\s\do 3(３),\s\do -3(０)) 答案：②
 eq \o(\s\do 3(３),\s\do -3(１)) 答案：②
 eq \o(\s\do 3(３),\s\do -3(２)) 答案：③
 eq \o(\s\do 3(３),\s\do -3(３)) 答案：②
 eq \o(\s\do 3(３),\s\do -3(４)) 答案：③
 eq \o(\s\do 3(３),\s\do -3(５)) 答案：④
 eq \o(\s\do 3(３),\s\do -3(６)) 答案：③
 eq \o(\s\do 3(３),\s\do -3(７)) 答案：②
 eq \o(\s\do 3(３),\s\do -3(８)) 答案：①
 eq \o(\s\do 3(３),\s\do -3(９)) 答案：②
 eq \o(\s\do 3(４),\s\do -3(０)) 答案：③
 eq \o(\s\do 3(４),\s\do -3(１)) 答案：④
 eq \o(\s\do 3(４),\s\do -3(２)) 答案：①
 eq \o(\s\do 3(４),\s\do -3(３)) 答案：②
 eq \o(\s\do 3(４),\s\do -3(４)) 答案：②
 eq \o(\s\do 3(４),\s\do -3(５)) 答案：③
 eq \o(\s\do 3(４),\s\do -3(６)) 答案：①
 eq \o(\s\do 3(４),\s\do -3(７)) 答案：①
 eq \o(\s\do 3(４),\s\do -3(８)) 答案：①
 eq \o(\s\do 3(４),\s\do -3(９)) 答案：①
 eq \o(\s\do 3(５),\s\do -3(０)) 答案：④
 eq \o(\s\do 3(５),\s\do -3(１)) 答案：③
 eq \o(\s\do 3(５),\s\do -3(２)) 答案：②
 eq \o(\s\do 3(５),\s\do -3(３)) 答案：①
 eq \o(\s\do 3(５),\s\do -3(４)) 答案：③
 eq \o(\s\do 3(５),\s\do -3(５)) 答案：②
 eq \o(\s\do 3(５),\s\do -3(６)) 答案：④
 eq \o(\s\do 3(５),\s\do -3(７)) 答案：④
 eq \o(\s\do 3(５),\s\do -3(８)) 答案：④
 eq \o(\s\do 3(５),\s\do -3(９)) 答案：③
 eq \o(\s\do 3(６),\s\do -3(０)) 答案：①
 eq \o(\s\do 3(６),\s\do -3(１)) 答案：①
 eq \o(\s\do 3(６),\s\do -3(２)) 答案：①
 eq \o(\s\do 3(６),\s\do -3(３)) 答案：②
 eq \o(\s\do 3(６),\s\do -3(４)) 答案：①
 eq \o(\s\do 3(６),\s\do -3(５)) 答案：①
 eq \o(\s\do 3(６),\s\do -3(６)) 答案：③
 eq \o(\s\do 3(６),\s\do -3(７)) 答案：④
 eq \o(\s\do 3(６),\s\do -3(８)) 答案：②
 eq \o(\s\do 3(６),\s\do -3(９)) 答案：①
 eq \o(\s\do 3(７),\s\do -3(０)) 答案：④
